2-205 59 16 9
O
(e}
1 /%?
NG F 1
1 =
r=-Gk.i )
2 o & e=Gk, do/dt %)
T G k
. i e K, ‘
M. g+1/4 zd?pgh=M 3
0 ( ) M 9t i P9 19 (3
X X O<h+x,—X; <Hj; ( )
f Hs I M, d’x, /dt* = f, +7/4d?pg(h+ X, — X )-M,g (4-a)
h+x,-%; <0 ( )
< fe M, dx, /dt® = f, —M,g (4-D)
R
h+x,-%; >H; ( )
Pa \T:dzylm2=ffwﬂ4dﬂ@Hf—Mfg m-?//
3 ‘ | d®0/dt>+C d@/dt=7+(f, - f,)Rm (5) ’
a N
P,=r iz—r[_erejz (6)
1 N O
3m r=-Gk.i sgn(d) 7
0.6 = Rmé (8)
2
3.1 | if+c %?:r+uc-n)&, ©)
1 1 3m 6s K
3 4 4 3 2
) 755-8611 2 16-1

)0836-85-9317  (FAX)0836-85-9301

-409-



2-205

12

3.2

(m)

(kg)

(m)

(m)

(kq)

(m)

(m)

(kg)

(m)

(m)

(kg)

(m)

(m)

(kg)

(m)

18

(1999

2000

3m)

12

59

2000

2

2.3kW

3.5kW

3.09kW

10.19kW

o Blwro |-

13.3kW

)

-410-

16

kN)

120 - k‘MkW) 1 30
= 100 25 —~
80 /\\ 20§
o] 7 -
5 740 1N N 0 N B WA WO .
SN/ [\ :
S/ £ s WP S Ve N
0 2 4 8 10 12 14 16 18 20
t(s)
ey — 0
15 ’SE
OV
X AN \ =
-05 | 1 -1
a b -2
-15 1-3
-2 1-4
-25 -5
0 2 4 8 10 12 14 16 18 20
4 X X, T

100

23
»
U
|+
)

L]
+H
Lt

* T=15(s)

Pc( W)

= T=35(s)

AT=45(s)

OT=55(s)
X T=6.5(s)

® T=7.5(s)
+T=8.5(s)
- T=9.5(s)
= T=10.5(s)

8 9 10



